EXERCISE q,-_g (MORE DIFFICULT EOUATIONS =~ Yo 10 ~ Wil ~20

Find the solution of the foliowing conditional equatioﬁsi

Ly—2=7 8. le=x+1 15.30—8y;'70

2. 5% = 40 \ 9. 6x—24 =0 T16 Sx=2=x+17
3. x4 17 =8 10. 9y = —27 17. 92+ 8 = 3a + 44 |
4 —3y=21 11. 8a — 2 = 46 8. 12y — 3y = 4y + 30
5. x4 12=20 - 12.7m =.5;;n + 16 19. @ + 2a — 6a = —15
6 —a=8 13. 28 = 12x — 5x 20. 14x — 6x 4 18 = 50
7.4 =T 14, 1ix + 17 = 39

$olve by first removing parentheses:

1. A(x — 3) =12 29. 12(x — 1) = 2(4x + 14)

22. 8(a 1 6) =72 30. 8Gm + 2) — 4(5m + 10)
23. 3(a — 12) = 2a ) 3L 12 + 3x = 40 4 x)

24. 9y = 5(y + §) 3260~ D=3 +9)

25. (2% — 3) = 9x 33. 20m — 4) + 30n + 3) = 36
26. 3(x + 6) = 2+ 40 34, 172 — (y + 18) = 5(y + 20)
27. 5(a — 3 = 2(a + 6) 35. 40 — 5(7 — x) = 3(x + 1)

28. 303y + 1) = 4(y + 8)

VMiiltAiply by the lowest common denominator to remove fréc‘ﬁons and solve:

362—x=6 45. 8 = 4 : oq 3x+4_,

e 7 3 * ‘ x A

‘- ..37.136-?2_:40 46.§~§:1 ' 55:x;r2:4_xg3

38 x}t 623 | .7 47, %_2:}6_+1_2§ 56, 3;rz #7:17;‘—'2:0

| 391;2:3 | 48.%=% B 57-§+2:7;;;+5

46&%1_2:7 : o x.42r4:2x;3 58, Sx;r4—:3_gcz_

415x+3:2 SD.Q;?:EM—Z ’59-§—2ix+$=1_
s, L =4 60.x12—%:5

o 43 xh6

EXERCISE 4.1 (Page43) ANSWE RS

Ly=9 9 ye=8 3, xe —0 3l.x=28 32.y=10 33.)_:*1=7
_ o : 4. y=9 35 x=—1 36. x =
4, y=—17 5. x=8§ 6.a=—8
T =6 8 x=—15 9. x—4 3L x =198 3B.x=9 -3 x=
10, y = —3 L a—6 B omeg 40, y =6 41 %= 1 42 x=13
13.x=4 14, x =2 15 y= 5 43. m=2 44, %=1 45, =
1. ¢ &' 0. x=4 2. x=6 Pl Rz 0 Szt
2.a=3 " 23 a=36 24,y =10 52‘X_44 Pex=—3 o =4
25 x = 4% 2. x=22 = 27.a=9 gg—x:“m? gg- m= 13 Zg-xus.is
28.y=5 - 20x= = n KT CEEE s EETT
¥y 3 9. x 10 30. m 6 6L x =72 62x=——i
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